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1 Jeitmh SRET T 2R KB 1850-1 X K 3,371.00 R8.1.1 R11.12.31
) ettt = ARET T &R KBM[ 1847-1 XA G 2,380.00 R8.1.1 R11.12.31
Jeatm SRAT T 2R KBM[ 1843-1 XA XA 1,045.00 R8.1.1 R11.12.31
k| SRETEGHEHE | HEAR 243 s X 808.00 R8.1.1 R10.12.31
3 kit | SIRETESHHET | HEAR 239 pG G 1,806.00 R8.1.1 R10.12.31
k| SEETEGHEHE | HEAR 245 A XA 780.00 R8.1.1 R10.12.31
4 | de#tTh | ABEEESH | B 4074-1 M H 1,057.00 R7.6.1 R11.12.31
5 kst | SRETFILTES =5H 1792-2 A s 2,490.00 R7.6.1 R16.12.31
Je4tmh = AR ET /Nt &R 1210 K XA 1,013.00 R7.6.1 R11.12.31
detth =ARAT/N &R 1203 G K 847.00 R7.6.1 R11.12.31
b4t S ARET /Nt %A 1209 Gl pGi 918.00 R7.6.1 R11.12.31
Jeitmh = AR ET /Nt &R 1204 X KA 755.00 R7.6.1 R11.12.31
ettt = AR ET /Nt &R 1215 G G 507.00 R7.6.1 R11.12.31
Jeatmh =R AT/ &R 1202 XA XA 950.00 R7.6.1 R11.12.31
6 Je4tmh =R AT/ &R 1205 X X 2,608.00 R7.6.1 R11.12.31
Jestm =R AT/ &R 1213 G pG 385.00 R7.6.1 R11.12.31
Jeatmh =R AT/ &R 1201 A XA 1,630.00 R7.6.1 R11.12.31
Jefth =ARAT/NV &R 1214 K K 2,336.00 R7.6.1 R11.12.31
Jestmh =R AT/ ®IR 1212 K K 767.00 R7.6.1 R11.12.31
Je4tmh = AR ET /Nt &R 1211 K K 1,001.00 R7.6.1 R11.12.31
L4t Th SR/ Nt 1%E 1208 X yGi 111.00 R7.6.1 R11.12.31
Jettmh I\ R BT FINEH 8037 K K 821.00 R7.6.1 R26.12.31
Jetth 1IN SR ET FAEE 8311 s G 364.00 R7.6.1 R26.12.31
Jettmh 1)\ iR SR ET FAEE 8312 X ¥ 1,137.00 R7.6.1 R26.12.31
Jetth 117 ik IR T 7 E 8302 X X 480.00 R7.6.1 R26.12.31
| sl I\ R BT FINEBH | 7988-1 A X 562.00 R7.6.1 R26.12.31
7 Jettth 1)\ iR SR BT F/N\NEH 8051 X i 766.00 R7.6.1 R26.12.31
| & il I\ R BT FINEH 8053 X K 1,113.00 R7.6.1 R26.12.31
Jetth J17 ik IR BT EJ\EH | 8049-3 K ¥ 447.00 R7.6.1 R26.12.31
Jettmh 117 ik IR BT FNEH 8055 H X 262.00 R7.6.1 R26.12.31
| sl I\ R BT FNEH 8027 X X 273.00 R7.6.1 R26.12.31
Jetth I\ SR T AEE 8304 H X 1,143.00 R7.6.1 R26.12.31
8 Jettmh 117 ik IR T AEH 8309-1 K X 2,094.00 R7.6.1 R11.12.31
9 Jetth 1IN SR ET AEE 8330-1 X K 314.00 R7.6.1 R11.12.31
0 Jetth TN SR ET RAR 85281 K G 406.00 R7.6.1 R11.12.31
Jettmh 117 ik IR T KA 8528-4 X X 500.00 R7.6.1 R11.12.31
. Jettmh I\ ik IR T EXAZR | 71971 X i 1,334.00 R7.6.1 R8.12.31
Jetth 1IN SR T EXARE | 7200-2 e KA 522.00 R7.6.1 R8.12.31
. | & il B JIETREF AL /NER 1619-1 X K 748.00 R7.6.1 R11.12.31
Jettmh ) ET R i= | Ny 1620-1 X X 666.00 R7.6.1 R11.12.31
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Jetth B ET R EF JL /N 1630 X X 190.00 R7.6.1 R9.12.31
Jetth ) ET B i= AL /NER 1631-1 X X 463.00 R7.6.1 R9.12.31
Jettmh eI BT R L /VER 1639-1 X X 265.00 R7.6.1 R9.12.31
3 | sl B IETREF AL /N 1640-1 X X 225.00 R7.6.1 R9.12.31
Jettmh I ET R | Ny 1641-1 X ¥ 526.00 R7.6.1 R9.12.31
Jettmh eI BT R AL /B 16421 X X 473.00 R7.6.1 R9.12.31
Jettmh ) ET R i= | Ny 1672-1 X X 569.00 R7.6.1 R9.12.31
Jettmh BT R | Ny 1688 X M 754.00 R7.6.1 R9.12.31
14 | Jt#tmh B ET =R {ENU 1193-1 X X 134.00 R7.6.1 R11.12.31
15 | de#th KRETAF - 7341 X K 827.00 R7.6.1 R12.12.31
6 Jettmh 71Nk SR BT F/NEMR | 8028-1 X M 235.00 R7.6.1 R26.12.31
Jetth AP FINEH 8050 JREF X 417.00 R7.6.1 R26.12.31
17 | de#th = AR BT E o g e 3241 M | 238.00 R7.6.1 R16.12.31
18 | dt#th | RIRETRIRTS | F/KEE 546-29 jG i 1,019.00 R7.6.1 R16.12.31
Jetth RIRETE HIR =T 3196-3 A ¥ 806.00 R8.1.1 R16.12.31
Jetth RIRETE HIR F=TFE 3197 KA G 1,494.00 R8.1.1 R16.12.31
Jestmh RIRATEHIR F AR 3221 K A 873.00 R8.1.1 R16.12.31
Jesth RIRETB HIR AR 3233 KA G 1,568.00 R8.1.1 R16.12.31
Jestm RIRET B HIR LSS 3234 A s 956.00 R8.1.1 R16.12.31
Jetth RIRHET B HIR LN S 3217 e s 1,672.00 R8.1.1 R16.12.31
et RIRETE HIR LN S 3235 X G 760.00 R8.1.1 R16.12.31
Jtit EIRATEFR 423 3236 b A 283.00 R8.1.1 R16.12.31
19 | Jb#tmh RIRETE HIR LN S 3240 X X 796.00 R8.1.1 R16.12.31
Jtit RIRATEFR 423 3239 G G 800.00 R8.1.1 R16.12.31
Jtit EIRATEFHR =g 3241 A G 1,271.00 R8.1.1 R16.12.31
Jtit EIRATE R =g 3242 M X 210.00 R8.1.1 R16.12.31
Jtit REIRATEFHR =g 3243 A G 254.00 R8.1.1 R16.12.31
Jt#tvh EIRATEFR =g 3244 A b 337.00 R8.1.1 R16.12.31
et RIRETE HIR G A& 3245 | G 610.00 R8.1.1 R16.12.31
gl i) RIFETE HR H AR 32471 H I 330.00 R8.1.1 R16.12.31
Jtitvh EIRATE R 4 2R 3247-2 M G 283.00 R8.1.1 R16.12.31
Jeatmh AERIE Hrith [ 2009 KA G 1,482.00 R8.1.1 R11.12.31
Jettth AEETIE it [ 2010 X X 603.00 R8.1.1 R11.12.31
Jettmh AERTIE Hrith [ 2011 X X 716.00 R8.1.1 R11.12.31
20 | dJt#tvh AEENIE #rith [ 2013 H X 535.00 R8.1.1 R11.12.31
Jettmh AEHIE Hrith [ 2006 X X 1,661.00 R8.1.1 R11.12.31
et AERNIE Hrih R 2007 X X 1,261.00 R8.1.1 R11.12.31
et AEENIE #rith [ 2008 X M 1,339.00 R8.1.1 R11.12.31
)1 Jetth AEETTEE —VE 24267 A X 1,494.00 R7.6.1 R11.12.31
| sl AEBTTEE —VE 24282 X yGi 245.00 R7.6.1 R11.12.31
2 Jettth AEMETINE ARH 287&1 H H 353.00 R7.6.1 R11.12.31
Jettmh ZAEHTIVTE ARH 28871 H H 454.00 R7.6.1 R11.12.31
23 | dt#tvh KRETEEH [ H 923 X X 658.00 R7.7.1 R11.12.31
Jestmh = AR ET R H AIEE 142181 X X 498.00 R7.6.1 R11.12.31
Je4tmh SIRATER H H AIEE 1425%1 K XA 852.00 R7.6.1 R11.12.31
ettt S ARET R H AIEE 142631 XA G 775.00 R7.6.1 R11.12.31
24 | de#tTh =R AT R = DI 173522 XA XA 2,029.00 R7.6.1 R11.12.31
Jb4tmh = AR T [ = DRI 1637% 1 X X 973.00 R7.6.1 R11.12.31
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et = AR BT & R = DA 163421 i i 416.00 R7.6.1 R11.12.31
Jeath = AR T Bk IR = DHI 1733% KA X 650.00 R7.6.1 R11.12.31
et 117k IR ET KA 8391-3 X X 2,897.00 R7.6.1 R8.12.31
Jettmh N IR BT RKAR 8391-4 X X 2,322.00 R7.6.1 R8.12.31

25 et J17 ik IR BT KA 8392-1 s X 1,240.00 R7.6.1 R8.12.31
Jettmh 11Nk R BT KA 8392-2 X X 905.00 R7.6.1 R8.12.31
bt JIN R SR ET RKAR 8392-4 X ¥ 908.00 R7.6.1 R8.12.31
et h 1)\ ik IR ET RKAR 8402 A X 3,393.00 R7.6.1 R8.12.31

26 | Jb#tmh BREFHT £ EBER 3601 poi poi 1,026.00 R7.6.1 R7.12.31

27 | Jb#tth AERTE T TP 5669% | H 1,862.00 R7.6.1 R8.12.31




